SF7A 5 A1 HBE Fo O : BARANFSAEAN)

RyHT4 HE g | M [ (A) | # |& (B) U | EF(A+B) | BEIE
] 2,543 8 2,803 -1 2, 884 4 5, 687 3
YT —T H 1,105 8 1, 002 4 839 1 1,841 5
JHPTHT — T H 635 6 581 2 570 1 1, 151 3
T =TH 681 4 708 -1 669 7 1,377 6
JATETIY T H 486 -3 498 —4 524 -9 1,022 -6
T T H 352 3 363 -1 335 6 698 5
PR ST H 312 2 375 0 387 1 762 1
FLoRHT 219 2 204 1 214 0 418 1
BE 384 2 442 1 453 1 895 2
TErH] 2,007 7 2,014 0 2,122 5 4,136 5
PPy 349 3 338 3 330 0 668 3
HHEH 953 —4 1, 009 -1 986 -1 1,995 2
T —TH 281 0 337 -1 389 1 726 0
ST T H 354 -3 424 -3 435 1 859 -9
T =T H 519 1 659 -1 630 -3 1, 289 —4
FHTIU T H 301 0 403 -2 390 2 793 0
T 235 -1 256 ) 248 -9 504 —4
= 298 -1 347 —4 327 0 674 —4
=YK 449 0 454 -5 463 2 917 -3
= AHHT—TH 0 0 0 0 0 0 0 0
—YAENT TH 32 0 43 0 43 0 36 0
CIELTE 113 0 121 -1 121 0 242 -1
— Y K¥HrTH 6 0 7 0 6 0 13 0
KH 2 4 698 7 865 6 861 4 1,726 10
w4l 4,175 ) 4, 393 -6 4,617 -1 9,010 -7
IR 4,178 16 3, 786 2 3, 867 3 7,653 5
HE—TH 163 6 430 2 471 7 901 9
T T H 712 1 757 0 790 2 1, 547 2
Tk 2] 1,475 13 1,541 11 1,591 15 3, 132 26
=+ R 8 1 11 1 10 0 21 1
B5t+tR—TH 954 -9 794 -1 948 2 1,742 1
=+H_TH 1, 149 -2 1,071 -9 1, 166 -3 2,237 -12
B5tR=TH 881 20 767 6 856 11 1,623 17
B LRIUTH 723 -5 686 -1 721 -3 1, 407 —4
B5tRATH 728 7 744 -1 666 1 1,410 0
2+ HR/SNTH 0 0 0 0 0 0 0 0
R 1 2,010 -3 1,959 -4 1,843 —4 3, 802 -8
Wy — T B 309 -1 312 0 319 3 631 3
Wy T H 253 4 252 3 251 3 503 6
Wy =T H 449 -3 437 2 458 —4 895 -2
fr - FEDUT H 797 0 697 -2 813 -8 1,510 -10
s s 455 4 491 -1 507 2 998 1
T — T H 255 1 284 ) 320 604 -1
FEHT T H 606 0 571 1 630 ~ 1,201 0
T =T H 192 -9 175 -5 229 -5 404 -10
2 34, 084 94 | 34,411 ~14 | 35,299 49 | 69,710 35




